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Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and

Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark.

gvt-1  (@Ue-21) WEl fasen g fafa
(Part-A) Choose and write the correct option :

() T v )y W e o S R 2
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Which type of land is most suitable for industries?

(a) Forestland (b) Agricultural land

(c) Orchard land (d) Barren land
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BMI stands for :

(@) Body Measurement (b)) Index Body Measurement

(¢) Body Mass Indicator (d) Body Mass Index

(iif) T T GES A AH
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The name of the Parliament of Russia is :
(a) Lok Sabha (b) Vidhan Sabha
(¢) Duma (d) Cazar
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Who had led the ‘National Socialist Workers Party’?

(a) Mussolini (b) Hitler

(d) Mahatma Gandhi

(¢) Hana
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Which of the following is helpful in making globalization strong?
(a) Information Technology (b) Workers

(c) Government (d) Goods
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(v) eifasH - - (3) 1950

(Part-B) Match the following :
Part (A) Part (B)

(0 Life expectancy - (a) Physical weakness

(i7) Constitution - (b) J.L. Baird
(7if) In Korba district
(iv) Invisible hunger

1

(c) Average age
(d) Establishment of Bharat
Aluminium Company Limited
(v) Television - (e) 1950
(@ue-w ) w1 gfid =i . [1x5=5]
(Part-C) Fill in the blanks :

() YRGH — = HagH $1 fUFR &1
InIndia ___ has right to vote.
(i) Teg e faw gewyw diaum § — A wega T
Hindu Code Bill was first time presented in the Constitution by ___.
(iif) MA@ T F F=wA IF ER B TS R — W
@RI IYE HIET ¢ |

Under P.D.S. programme every month the eligible family gets
food at __ rate.

(v) — ¥ TR F i g-=g =1 faao g )

The details of the Government’s annual income and
expenditure are in

(v) A Sl R T & frg g w0 9w — Fa

In India, elections are conducted by the __ to establish democracy.
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very short answer type questions.

. ; .2to6are : e
WSS g;:}ft;itgi{:fn carries 2 marks. (Maximum word limit of

answer is 30 words)

w-2  UerEeHH FE? 2]
What is Andosalfan?

W -3 S 1 e ¥ 4R P T A SR E 2 [141=2)
What are the different bank accounts in which people
deposit money?

wE-4 3w @t & A el [1+1=))
Write the name of two metallic minerals.

wgr-5 e & oin e A S fafe (141=2]
Write the differences between import tax and export tax.

wA-6 v g fF < 3 6 e g ? 0

In between which two countries the Cold War was held?
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Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.

Each question carries 3 marks. (Maximum word limit of
answer is 50 words)

W=7 SO BE-HE QS y e [1+1+1=3]
What are the figures obtained from census?
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What may be causes by

which there i i ; :
of food crops after th e is rapid increase in the production

e 70th century?
-9 W F wift % o et SR i JRE gaM 2 3]

Why did
y did the Peace Movement for disarmament begin in Japan?

S-3A
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“Flexibility in labour policies helps companies.” Clarify
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Instruction : (D) Question Nos. 11 to 14 are short answer type questions

-1

w-12

" WP-13

Each question has internal option. Each question carries
4 marks. (Maximum word limit of answer is 75 words)

U e Ud EH SARier 3 PH-hH 5w § 2 99 faEn
Tt 4]

What are the similarities between Punjab Movement and Assam
Movement? Write your opinion.

3g4a1/OR
feg Fre faa €1 a=a & =1 ¥ 2 FHEE |
If Hindu Code Bill would have not been made, what would have
happened? Explain.
zeeh B qEifer % Iohd % IR R fafau [1+1+1+1=4]
Write the four causes of rise of Mussolini in Italy. '

3rgar/OR
mﬂﬁfﬂm%ﬁmﬁmﬁq@mﬁm%?zﬁwmi?

What may be the negative environmental impacts of digging? Whatare

their solutions?

mﬁaaﬁwmﬁ?mﬁﬁﬁ?ﬂﬂfaﬁﬁfﬁﬁf@m [1+3=4]
When was the League of Nations established? Write any three

principles of League of Nations.
g4/ OR

JTATE ﬁhﬁgﬁ?mmmﬁaﬁﬁf@m
sailles happened? Write its three main terms.
P.T.O.

When was the Treaty of Ver
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and degradation? Write your opinion.

 grere s e 5 A 8

What are the human factors of |
3re&/OR
fftt Yt 3 R FEH B it |
Explain the four factors of the land management.
T : (3) o i 15 1 16 Adewa v ¥ | wAE we # AIE

Fareq ¥ | TEE W W 5 37 aTefea § | (ST B A
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Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has internal option. Each question carries
5 marks. (Maximum word limit of answer is 100 words)

qva-15 Tty Sifuard & wiredt &t v S| (HE ure) [1+1+1+1+1=5]

Describe the rural settlement patterns. (any five)

379747/ OR
TTTE B9 O T 39 B W ¥ 2 IR SR aEEe |

What are the problems arising due to urbanization? Explain with
example.

qr-16 e W e e e S W Frew @ @, @ 9w e
] TR T THE G 2 ' (5]

If Reserve Bank of India will not keep control on commercial banks,
what will effect on money and credit?

arera1/ OR
%1 3 fore v Y- @, T, SEa aen fir nfe i st
i S & ? Tl v i THART |

Why some conditions like interest rate, time, guarantee and mortgage

etc. are essential for loan? Explain each condition.
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wy-18

What similariti

aritie -
communicat s and differences do you e efwesrn fe
unication of Print Media and 1.V.7 T
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Explain any three important means of communivation.

mmmmwﬁ?mmmmﬂwmw*ﬁmr
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What is judicial work of the Parliament? Why hasy this work been
given to the Parliament and not o the Supreme Court?

@/ OR

ent Assembly take to strengihen peopie’s

What steps did {he Constitu .
f the Constitution?
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